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E. Ensure that your personal data have been entered correctly oh Side — || of th e s @ sh et

& Ensurethat you have entered your 7-digit Test Registration Mumber in Box 20ef the Answer sheet

correctly,
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announcement only after collecting the Answer Sheets from all the candidates in the room,
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Condidates giving assistance or seeking/receiving from any source i answering guestions or copying i any
fmanner in the test will forfeit their chances of being considered for admission, Such conaidotes will forfeit the
Fight to the scovecard, The festing cuthority reserves the right fo exclude any guestion or questions from this
Test Booklet for final examination,



Test Form Mumber:

SECTION |

1. A& shop stores x kg of rice. The first custormer buys half this amount plus half a kg of rice. The second
customer buys half the remaining amount plus half a kg of rice. Then the third customer alsa buys half the
remaining armourt plus half a kg of rice, Thereafter, no rice is left inthe shop, Which of the following best
describes the value of %7

(1] 2€x €6 (215€x €8 (3)19<x <12 (4)11<x €14 (5) 13<x

Directions for Questions 2 and 3:

Let fix) = @i’ + b + ¢, where g, b and ¢ are certain constants and @ 2 0. 1t is known OQ—BJ‘[E and
o7

that 3 isa root of f(x)=10

2.'What is the other root of fix) =

(1 -7 (27 -4 (31 2 (41 A cannat be
3. Whatisthe value of o+ b+ &7

(1) 9 (21 14 (31 13 (4] t be determined
4, The number of commaon terms in the two se 21, 25, .., 417 and 16, 21, 26, .., 4R6
is
(1) 78 (2} 19 (3) 20 (177 (51 22



The figure below shows the plan of a town. The streets are at right angles to each other, A rectangular
park (P is situated inside the town with a diagonal road running through it, There is also a prohibited
region (D) inthe town

™

;;-
\ 4

5. Meelam rides her hicyclefrom her house at A to her office at B, tdling the shortest path, Then the
number of possible shortest paths that shecan choose is

(1) &0 (2] 75 (3] 45 (4] 90

6. Meelam rides her hicycle from her house at hefelub at G via B taking the shortest path, Then the
number of possible shortest paths that shafta OeEE s

(111170 (21 630 (31 Mz (41 1200 (57 936

7. Let i) be afunction satisfyi T = iyl for all real x, v IF 27=4, then what

\ 2

{3

M|

(4 1 {5} cannot be determined

egers 1, 2, .., 40 are written on a blackboard. The following operation is then repeated 39 times:
In each repetition, any two numbers, say @ and & currently on the blackboard are erased and a new
number g+ b — 1 is written, What will be the number left on the board at the end?

(17820  (2) 821 {3) 781 (4) 819 {5) 780



i L
= seed(s(n)), otherwise,
where s(n) indicates the sum of digits of » Forexample,
seed(7) =7 seed(248)=seed(2+ 4+ 8)= seed(l4)==ceed(1+ 4) = seed(5)=5 =tc
How many positive integers ®, such that n =< 500, will have seed(r1=37

(1) 33 (2] 72 (31 81 (4) 108 (5] 55

10. In a triangle ABG the lengths of the sides AB and AC equal 17.5 cm and 9 cm respectively, Le Ea
point on the line segment BC such that AD is perpendicular to BC If 20 =3 cm, then what isth s
o) of the circle circum scribing the triang e ABCY

(1] 17.05 (2] 27.85 (3] 22.45 (4) 32,25  (5) 26.25

11.What arethe last two digits of 7757

12. Ifthe roots of the equation - @ +bx — ¢ =0 are three consecutiva] rs, Anen
what is the smallest possible value of A7

1
(1 7 {21 @30 (N {5}—

13, Consider obtuse-angled trianges with sides 8 ¢ nd x om. If x is an integer, then how  many
such triangles exist?
(175 {2721
14, How mary integers, greater than areater than 4000, can be formed with the digits 0, 1, 2,
3 and 4, if repetition of digits is all
(1) 499 (2) 500 @ 376 (5) 501

f distinc

20

15. What iz the numbe erms inthe expansion of (a+b+¢)7

\ 2

(1) 231 (3) 242 (4) 210  (5) 228

16. Consid re ABCD with midpoints E, F, 5, H of 2B, B, CO and D& respectively, Let L denote the
FandH. Consider points Fand 2, on L and inside ABCD, such that the angles 2PD and

20° What isthe ratio of the area of ABQCDP to the remaining area inside ABCDY

D—:‘n.r'_

1
{2) 1+ﬁ {(5)2v3-1

17. Three consecutive positive integers are raised to the first, second and third powers respectively and

@i (3

then added, The sum so obtained is a perfect square whose sguare root equals the total of the three
ariginal integers, Which of the following best describes the minimum, say m, of thesethree integers?

(1) 1€m=<3 (2) 4<m<6 (3)7<me9 (4 10<me<12 (5)13<m=15



18. Find the sum 1+1+1+ 1+1+1+ + |1+ 1 + 1
] 12 22 2% g2 ™ 20072 2008°

1 1 1
(1) 2008-—— (2) 2007-—— (3) 2007-——
” 1 3 1
() 2000 o057 ) 20083505

19, Two circles, both of radii 1 cm, intersect such that the circumference of eachan 5 ugh the
centre of the circle of the other, What is the area (in sq cm) of the intersecting regidal”

20. Rahim plans to drive from city Ato station C, at the geed krn per hour, to catch a train arriving
there from B. He must reach C at least 15 minutes b
500 km south of & at 8:00 am and travels at a
between west and northwest of B, with BC at &
A with AT at 307 to AB, The latest time by

t rrival of thetrain The train leaves B, located

S0k per hour, 1t is known that Cis located
co, Cis located between south and southwest of
must leave & and still catch the train is closest to

(116:15 am (2} &:30am (3] € (41 7:00 am 5] 7:15 am
21. Consider a right circular o s&radius 4 cm and height 10 cm, A cylinder is to be placed inside the
cone with one of the flat surfac g on the base of the cone, Find the largest possible total surface

area(in sg. cm) of the oy der’




Five horses, Red, White, Grey, Black and Spotted participated in a race &s per the rules of the race, the
persons betting on the winning horse get four tirmes the bet amount and those betting on the horse that
came in second get thrice the bet amount. Moreaver, the bet amount is returned to those betting on the
horse that came in third, and the rest |ose the bet amount. Raju bets Rs, 3000, Rs, 2000 Rs, 1000 on Red,
White and Black horses respectively and ends up with no profit and no loss,

22.Which of the following cannot be true?

(11 A&t least two horses finished before Spotted

(2] Red finished last

(3) Therewere three horses between Black and Spotted
(4] There were threehorses between White and Red
(5] Grey came in second

23. Suppose, inaddition, it is known that Grey came in fourth. Then which of the foN@wigs cannot be
true?

\ 4
(1) Spotted came infirst

(21 Red finished last Q

(3] White camein second

(41 Black camein second @

(5) Therewas one horse between Black and White



Marks (17if O can be answered from A alone but not from B alone,

Marks (27if O can be answered from B alone but not from & alone,

marks (37if O can be answered from & alone as well as from B alone,

Marks (47if Q can be answered from & and B together but nat from any of them alone,
Marks (5)if O cannat be answered even from A and B together,

I a single elimination tournament, any player is eliminated with a single loss, The tourname Pl ed |
multiple rounds subject to the following rules:

(a) If the number of players, say f, inany round is even, then the players are ar
The players in each pair play a match against each other and the winner movef on to ext round.

(b) If the number of players, say #, in any round is odd, then one of them is biye, that is, he
automatically maves on to the next round. The remaining (n - 1] pl areguuped into (v - 12
pairs. The players in each pair play a match against each other and himers moves on to the next

round. Mo player gets morethan one bye inthe entire taurna

Thus, if # iz even, then n/2 players move on to the next round@h] add, then (»+1)/2 players move
on to the next round, The process is continued till the findPro Aich obwiously is played between two

players. The winner in the final round is the champion of £ ament.

24, O What is the number of matches played

& The entry list for the tournarm ent gling

B: The champion received ane by

25. Ot If the number of player inthe first round was between &5 and 128, then what is the exact

valueaf n? .
& Exactly one ceived a bye inthe entire tournarment,

B: Onepl ived a bye while maving on to the fourth round fram third round



SECTION Il

This section contains 25 questions
Directions for Questions 26 to 28: Answer the fallowing questions bazed on the infarm ation given bel ow:;

For admission to various affiliated colleges, a university conducts a written test with four different

admission anly if hefshe gets marks greater than or equal to the cut-off marks in each of th
his/her aggregate marks are at least equal to the aggregate cut-off marks as specified by

Sectional Cut-off Marks \ seate
Section A | Section B | Seetion C | Seeti Cat-off Marks
College ¢ 42 42 42 E 70
College 2 43 45 O E7S
College 3 4 % ¥l
Collepe 4 43 45 78
College & 45 FRE
Collewe & 44 E76

26. Aditya did not get a call f evell a single college. YWhat could be the maximum aggregate marks
obtained by him?

( 3)184 (47196 (59190
olleges. What could be the minimum aggregate marks obtained by her?
(1) (3) 196 (4)176 (5)184

s from two colleges, What could bethe minimum marks obtained by him ina section?

(2) 21 (3) 25 (4) 35 (5) 41



The bar chart below shows the revenue received, in million US Dollars (USD), from subseribers to a
particular Internet service, The data covers the period 2003 to 2007 for the United States (US) and Europe,
The bar chart also shows the estimate revenues fram the subscription to this service for the period 2008 to
2010,
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Sulscription Rew=noe in Million USD

Europe seems to be declining, Which of the follow st to the percent change in growth rate of
2007 [over 2006) relative to the growth rate of 2 yer 477

29, While the subscription in Europe has been growing d&h that of the U5, the growth ratein
C
1]

(1317 (220 (335 (Ne0

30. Thedifference between the estimited iption in Europein 2008 and what it would have been if it
were computed using the percent rate of 2007 (over 2006), is closest ta:
(1150 (2] 80 (3)20 510

31. In 2003, sixty perceff of subscribers in Europe were men. Given that woman subscribers increase at

the rate of 10 perc nntm and men at the rate of 5 percent per annurm, what is the approximate
percentage gro
and may ch

the annual percent change in the gap between subscription revenues inthe LS and Europe,
hie year in which the absolute value of this change is the highest?

(1)03-04  (2)05-06  (3)06-07  (4)08-09  (5)09-10



There are 100 employees in an organization across five departments. The following table gives the
departement-wise distribution of average age, average basic pay and allowances, The gross pay of an
employees is the sum of his/her basic pay and allowances,

_ _ Number of | Average  |Average Basic|  Alowances
Drepariment . . . R, .
Eaypdovess | Age {Years)| Payv (Rs. ) [(% of Basic P
M 5 48 RILEE
Marketmyg M 33 SHEE
Fleeanee KL a0 A0
Husiness evelopment 35 42 T
Matntenanes i 33

There are limited numbers of employees consideredgfd
Wwhenever a person is transferred/promoted from a dep entf lower average age to a department of

higher average age, hefshe will get an additional a 10% of basic pay over and above his/her

ture if a personis transferred/promoted from
ith lower average age.

Cuestions below are independent of each

33. There was a mutual transfer of ee between Marketing and Finance departments and transfer
of one employee fram Marke HRA &5 a result, the average age of Finance department increased by
one year and that of marke department remained the same. What is the new average age of HR
department?

L 4
(11 30 (4145 (5] cannot be determined
34, What is ate percentage change in the average gross pay of the HR department due to

person with basic pay of Rs, 8000 from the Marketing department?

211%  (313% (4)15%  (5)117%

HR department and oneperson (with a basic pay of Rs, 8000) was transferred from Marketing department
to HR departrment, what will be the percentage change in average basic pay of HR department?

(17105%  (2)12.5%  (3)15%  (4)30%  (5)40%



Abdul, Bikram and Chetan are three professional traders who trade in shares of a company X2 Ltd. Abdul
followes the strategy of buying at the opening of the day at 10 am and selling the whole lot at the close of
the day at 3 pm. Bikram follows the srategy of buying at hourly intervals: 10 am , 11 am, 12 noon, 1 pm
and 2 pm, and selling the whole lot at the close of the day, Further, he buys an equal number of sharesin
each purchase, Chetan follows a similar pattern as Bikram but his strategy is somewhat different. Chetan's
total investment amount is divided equally among his purchases. The profit or loss made by each investor
is the difference between the sale value at the close of the day less the investment in purchasze, The
"return” for each investor is defined as the ratio of the profit or loss to the investment amount e d
as a percentage,

36. On a "boom™ day the price of ¥¥Z Ltd keeps rising throughout the day and peaks I of the
day, Which trader got the minimum return on that day?

(17 Bikram (27 Chetan (37 Abdul (41 Abdul or Chetan (57 cannot be delerm irfid

37. COn aday of fluctuating market prices, the share price of X¥Z Ltd. en ith gin, i.e, it is higher at
theclose of the day compared to the opening value, Which trader got th m@m return on that day?
(17 Bikram (27 Chetan (37 Abdul (47 Bikram or Chetan 1 carfhot be determined

38. Which ane of the following statements is always true? @
(1) &bdul will not be the one with the minimum retur
(2] Return for Chetan will be higher than that of Bikr
(3) Return for Bikram will be higher than that of
(
(

4y Return for Chetan cannot be higher than thataf Ab
51 none of the above

One day, two other traders, Dane andEmil fed Abdul , Bikram and Chetan for trading in the shares of
#Z Ltd, Dane followed a strategy equal nurmbers of shares at 10 am, 11 am and 12 noon, and
selling the same numbers at 2 and 3 prm. Emily, on the other hand, followed the strategy of
buying shares using all her m at@0am and selling all of them at 12 noon and again buying the shares
for all the money at 1 pg and it zelling all of them at the close of the day at 3 pm. At the close of the

day the fallowing w
i

harg'price at 12 noon was lower than the opening price,

39, h of the following is necessarily false?

(1) Share price was at its lowest at 2 pm

(27 Share price was at its lowest at 11 am

(3] Share price at L pm weas higher than the share price at 2 pm
(4] Share price at 1 pm was higher than the share price at 12 noon
(51 none of the above
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(1110 am (2111 am (3112 noon (411 pm (5] cannot be determined
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i There arethree houses on each side of the road,
i1 Thesesix houses are labeled as P, O, R, 5, T and U,

il Thehouses are of different colours, namely, Red, Blug, Green, Orange, Yellow and White,
iv] Thehouses are of different heights,

v] T, thetallest house, is exactly opposite to the Red coloured house

vi] Theshortest house is exactly opposite to the Green coloured house,

il U, the Orange coloured house, is located between P and 5

viii] R, the Yellow coloured house, is exactly opposite to P,

ix]  Q, the Green coloured house, is exactly opposite to U,

X F, the YWhite coloured house, is taller than R, but shorter than S and Q.

41. What is the colour of the tallest house?

(1) Red 2] Blue (31 Green (41vellow 15) none of these

42, What is the colour of the house diagonally opposite to thevellow col hilse?
(11white (2)Blue  (3)Green  (4)Red (51 none of these Q

43, Which is the second tallest house?

(11F (215 (310 (4R (5) cannot be det



IFa sports event, six teams (&, B, C, D, E and F) are competing against each other, Matches are scheduled
intwo stages, Each team plays three matches in Stage-l and two matches in Stage-l, Mo team plays against
the sarme team morethan once in the event. Mo ties are permitted in any of the matches, The chservations
after the completion of Stage-l and Stage-1l are as given below,

Stage-I

s Oneteam won all the three matches,

*  Twoteams lost all the matches,

e  [lost to Abut won against Cand F,

» ElosttoBbut wonagainst Cand F

* B lost at least one match,

*  Fdid not play against thetop team of Stagel,

*»  The leader of Stage-| lost the next two matches, ¢

. Of the two teams at the bottom after Stage-l, oneteam wo D@ES, whil e
the other lost both matches,
*  Onemoreteam lost both matches in Stage-Il, 2

44, The team (=) with the most wins inthe evert is (ar

114 (2)ARC (3)F (4)E B &

49, Thetwo teams that defeated the lead

(1)F&D (ZJE&F (3B & (ME&D (SIF& D
46. The only team(s)1that won hefnatches in Stage-Il is (are):
(1B (ZJE&F B F (4B, E&F (1B &F

47, The teams that e ctlﬁwu matches inthe event are:

(NE&F (4DE&F [(S)D&F



Telecom operators get revenue from transfer of data and voice. Average revenue received fram transfer of
each unit of data is known as ARDT, In the diagram below, the revenue received from data transfer as
percentage of total revenue received and the ARDT in US Dollars (USD) are given for various courtries,
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48. If the total revenue received | arm the pairs of countries listed in the choices below, choose
the pair that has approximatel amg valume of data transfer.
(11 Philippines and  Austri Canada and Poland (31 Germany and USA&

(41 UK and Spain (51 Denmark and hexico

ume of data transfer in India is the same as that of Singapore, Then which of

esame in baoth countries,
inlndiais about 2 times that of Singapore
nue in India is about 4times that of Singapore

(5) Total revenue in Singapore isabout 4 times that of India
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and that the volume of data transfer is the same in both the countries, What is the percentage increase of
ARDTin India if thereis no change in ARDT in Sweden?

(17 400% (21550% (3)800% 147 950% (57 cannot be determined

,09



This section contains 40 questions

Directions for questions 51 to 54: |n each question, there are five sentences. Each sentence has a pair of
wards that are italicized and highlighted. From theitalicized and highlighted words, select the mast
appropriate words (A or B)to form correct sertences, The sentences arefollowed by optionsthat
indicate the words, which may be selected to correctly complete the set of sentences. From the options
given, choose the most appropriate one.

51.

Anita wore a beautiful broach fA)/brooch{B) on the lapel of her jacket,

If you want to complain about the amenities in your neighbourhood, please mest your,
councdliorfA)/counselor{B).

I would like your advicef A)fadvise (B) on which job | should choose,

The last scene provided a cimacticfA)/climatic{B) ending to the film.

Jeans that fairfA)flare{B) at the bottom arein fashion these days. TS

(1] BABAS (2] BABAR (3] BAAAR (41ABABL (5

52,
The cake had lots of carrents{A)fcurrants{B) and nuts in jt.
If you engage in such exceptionalf ) exceptionable(R hiaw

will beforced to punish you,

He has the same capacity as an adult to consenty. to surgical treatment.,
The minister is obligedfA) fcompelied{B) to rep

His analysis of the situation is far too sarqud

(1) BBABA (2] BB&AA (3) BBB ] ABBAR (5] BABAR

53.

Shemanaged to hite back t icfAl/caudic{B) retort on the tip of hertongue,
He gave animpassioned an {Al/cogent{B) plea for judicial reform.

| am not adve rsefA) /averse{R elping out,
The coupefA)/cou ke@way as thetrain climbed the hill,
They heard th gf A} pealing{B) far and wide.

(3] BALER (4) ABBAS, (5] BBERA

ot successful in defusing{A)/ diffusing{B) the Guru's ideas,

nts baitedfA)/bated{B) the instructor with irrelevant guestions.

The hoardfa)/horde{B) rushed into the campus,

The prisoner’s interment{A)/internment {B) came to an end with his early release,
The hockey team could not deal with his ursociable{a)/unsocialfB) tendencies,

(1] BABBA  (2) BBABB (3] BisBds (4] ABBAR (5] AABBA
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usage (including spelling punctuation and logical consistency). Then, choose the most appropriate

option,

55.

A, 11 1849, a poor Bavarian imigrant named Levi Strauss

B. landed in San Francisco, California,

. at the invitation of his brother-in-law David Stern

D. owner of dry goods business,

E. This dry goods business would later become known as Levi Strauss & Company,

(118 only (21BandC (MaandB (&) A only (514, BandD

56.

In response to the allegations and condemnation pouring in,

Mike implemented comprehensive changes in their labour policy.

Perhaps sensing the rising tide of global labour concerns, L 2
from the public would become a prominent media issue,

monm

Mike sought to be a industry leader in employee relations,
(L)DandE (21D only (3)&andE (4) & and D B, CandE

57,
&, Charges and counter charges mean nothing
B. to the few million who have lost their hl:ume

. The nightmare is far from over, for the gov
0. is still unable to reach hundreds wh
E. The death count have just bhegun, ‘

(1) & only (2) Conly A4, Cand D (51D only
58.
A, | did not know whalito mak ¥ou,
B. Because you'd Inuﬁ, | associate you more with my parents than with me,
. my cousins in Calcutta, who seem so innocent and obedient when | visited
them
0. Youwe rious about meinthe least,

u did make effort to meet me.

(2)Aand B (3) & andE (4) D only (5)&andD
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Given below each guestion are five pairs of words, Choosethe pair that hest completes the sertence,

50.

The genocides in Bosnia and Rwanda, apart from being mis-described in the most sinister and
_ manner as 'ethnic cleansing’, were also blamed, in further hand-washing rhetoric, on

something darkand interiorta __and perpetratars alike,

(1) innovative; communicatar (4] exigent; exploiters
(21 enchanting leaders (50 tragic; sufferers
(3) disingenuous; victims

60.
A5 navigatars, calendar makers, and other__ of the night sky accum ce to the
contrary, ancient astronomers wereforcedto . that certain bodies might mow® in circles about
points, which inturn moved in circles about the earth,
\ 4
(1) scrutinizers; believe (4) observers; concede
(21 ohservers; agres (50 students; con
(3) scrutinizers; suggest @
61.
Every human being, after the first few days of his life, i ro f two factors; on the one hand, there
iz his erdowrmnent; and onthe ot ‘@bere is the effect of environment, including
(11 constitutional; weather economic learning
(2) congenital; education 1 genetic; pedagogy
(31 personal; climate
62.
Exhaustion of natural resou . deftruction of individual initiative by governments, cantrol over men's

minds by central ducation and propaganda are some of the major evils which appear to

be on the increas ultﬁf theimpact of science upon minds suited by~~~ toan earlier kind

(4) organs tradition
(5) departments; repulsion
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incorrect or inappropriate,
63. Run

11 must run fast to catch up with him,
21 Cur team scored a goal against the run of play,

4 The newly released book is enjoying a popular run,

(1)

(2]

(3)¥ou can't run over him like that,

(4)

(57 This film i=s a run-of-the-mill production,

64. Round

(1) The policefired a round of tear gas shells,

(21 The shopis located round the corner,

(3) Wetook a ride on the merry-go-round.

(3 The doctoris on a hospital round, ¢
(5)1 shall proceed further only after you come around to admitting it,

65. Buckle

1} After the long hike our knees were beginning to buckle,
21 The horse suddenly brokeinto a buckle,

(1)

(2]

(3) The accused did not buckle under palice interr
(4) Sometimes, an earthguake canmake a brid
(5]

5) People should learn to buckle up as soon into the car.

66. File

(11 ¥ou will find the paper inthefi

(21 need ta file an insuranc

(31The cadets were marchi simgle file.

(4] File your nails befoge vou ail polish,

(51 when the para ongg soldier brokethefile
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inthe mostappropriate way,

67.

host people at their first consultation take a furtive look at the surgeon’s hands in the hope of
reassurance. Prospective patients look for delicacy, sensitivity, steadiness, perhaps unblemished pallar,
on this basis, Henry Perowne loses a number of cases each wear, Generally, he knows it's about to
happen before the patient does: the downward glance repested, the prepared guestions beginning to
falter, the overemphatic thanks during the retreat to the door,

1
2

(1) Other people do not communicate due to their poor observation.
(2)
(3) But Perowne himself is not concerned,
(4]
(5)

Other patients don't like what they see but are ignorant of their right to go elsewh

41 But others will take their place, he thaught,
5) These hands are steady enough, but they are large,

68. 23

Trade protectionism, disguised as concern for the climate, is raising | . Ciglng competitiveness
concerns, powerful industrialized countries are holding out threatfof a | nimports of energy-
intensive products from developing courtries that refuse to itgdermands, The actual source of
protectionist sentiment inthe OECD countries is, of course, i it lackluster economic
performance, combined with the challenges posed by lglrapi omicrise of China and India — inthat
order.

(1) Climate changeis evoked to bring trade e ism through the back door,

(21 CECD countries are taking refuge in clipgateSiange issues to erect trade barriers against thesetwao
countries,

(3) Climate change concerns havecdine a fvenient stick to beat therising trade power of China
and India.

(4) Defenders of the global g

(51 Today's climatechange B

ic\§tatus quo are posing as climate change champions,
pifins arethe perpetrators of global economic inequity,

\ 2

ttancherry represents, therefore, the perfect picture of peaceful co-existence,

(21 India’s Jews have almost never suffered discrimination, except for European colonizers and each
other.

(31 JewsinIndia were always talerant,

(4) Religious tolerance has always been only afagade and nothing maore,

(5) The pretty pastel streets are, thus, very popular with the tourists.



70.

Given the cultural and intellectual interconnections, the question of what is “Western' and what is
"Eastern’ (or Indian)is often hard to decide, and the issue can be discussed only in more dialectical
terms. The diagnosis of athought as ‘purely Western® or ‘purely Indian’ can be very illusary,

(11 Thoughts are not the kind of things that can be easily categorized.
21 Though "occidentalism® and "orientalism’ as dichotomous concepts have found many adherents,

)
(2)
(3) "EastisEast and West is West' has been a discredited notion for a long tim e now.
(4) Compartmentalizing thoughts is often desirable,

(5]

5) The origin of a thought is not the kind of thing to which "purity’ happens easily.

,09
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Language is not a cultural artifact that we learn the way we learn to tell time or how the federal
government works, Instead, it is a distinct piece of the hiological makeup of our brains, Language is a
camplex, specialized skill, which develops in the child spontaneausly, without conscious effort or formal
instruction, is deployed without awareness of its underlying logic, is qualitatively the same in every
individual, and is distinct from more general ahilities to process information or behave intelligently, For
these reasons some cognitive scientists have described language as a psychological faculty, a mental
organ, a neural system, and a computational module But | prefer the admittedly quaint term “instinct."
It conveys the idea that people know how to talk in more or less the sensethat spiders know howfToSgin
wehs, Web-spinning was not invented by some unsung spider genius and does not depend ondtasine had
the right education or on having an aptitude for architecture or the construction trades, Ratfer, splgers
spin spider webs hecause they have spider brains, which give them the urge to spin angHSeormpetence
to succeed. Although there are differences hetween webs and words, | will encolirage You to see
languageinthis way, for it helps to make sense of the phenormena we will explorsg

Thinking of language as an instinct inverts the popular wisdom, especially as it has¥Gesh passed down in
the canon of the hum anities and social sciences, Language is no more a @@ kal ingention than is upright
posture. It is not a manifestation of a general capacity to use -symbols: Bthfeegear old, we shall see, is a
grammatical genius, but is guite incompetent at the visual arts, rgfPousisafosraphy, traffic signs, and
the other staples of the semictics curriculum. Though language i$a madhificent ahility unique to Homo
sapiens among living species, it does not call for sequesterig@8he Studd of humans from the domain of
biclogy, for a magnificent ability unique to a particular liWngfso8eies is far from unigue in the animal
kingdorm, Some kinds of bats home in on flying insechsl using Duwbpler sonar, Some kinds of migratory
birds navigate thousands of miles by calibrating thenosiions of the constellations against the time of
day and year. In nature's talent show we are sigply a§gectes of primate with our own act, a knack far
communicating infarmation about who did whit t8whorm by modulating the sounds we make when we
exhale

Cnce you beginto look at language ot 3ythe jreffable essence of human unigueness but as a hiologcal
adaption to communicate informakiaf, it isH0 longer as tempting to see language as aninsidious shaper
of thought, and, we shall seeimig not\orecver, seeing language as one of nature’s engineering marvels
— an organ with "that perféttigh of structure and co-adaption which justly excites our admiration, “in
Darwin's words — give,us a nelpespect for your ordinary Joe and the much-maligned English language
{or any language). TheRomplexity of language, from the scientist's point of wiew, is part of our hiological
birthright; it is not Yfething that parents teach their children or something that must be elaborated in
school — as OsgarWlee said, “Education is an admirable thing, but it is well to remember from time to
time that Roeking that is worth knowing can be taught.” & preschooler's tacit knowledge of grammar is
moregdghisticaled than the thickest style manual ar the most state-of-the-art computer language
syatemigand the same applies to all healthy human beings, even the notorious syntax-fracturing
professmpal athlete and the, you know, like inarticulate teenage skateboarder. Finally, since language is
theNghoduct of a well-engineered hiological instinct, we shall see that it is not nutty barrel of monkeys
that entertainer-columnists make it out to be

71. According tothe passage, which of the following does not stem from popular wisdom on language?
(1) Languageis a cultural artifact,

(2)

(3) Languageis learnt aswe grow,
(4

Languageis a cultural invertion,

Languageis unigque to Homo sapiens



72, Which of thefollowing can be used to replace the “spiders know how to spin webs" analogy as used
by the author?

(1) Akitten learning to jump aver a wall

(21 Bees collecting nectar

(3) Adonkey carrying aload

(4 & horse running a Derby

(5) A pet dog protecting its owner's property

73. According to the passage, which of the following is unique to human beings?
(1) Ahbility to use symbals while communicating with one anather,

(2
(3
(4
(5

\ 4
74, According to the passage, complexity of language cannot C@parems or at school to

Ahility to communicate with each other through voice modulation,
Ahility to communicate information to other members of the species,
Ahility to use sound as means of communication,

All of the above

e

children because

(1) children instinctively know language,

(2] children learn the language on their own,

(31 languageis nat amenahle to teaching,

(4) children know language better than theirteac ents.
(5) '

3

children are born with the knowledge of s

75. Which of the following best summ
(1) Languageis unigque to Homo sapiens.

(2] Languageis neither learnt no

(31 Languageis not a cultural or artifact as it is made out,
(4] Languageis instinctive 3 an beings.,

(5) Languageis use of symbOoi§uumifue to human beings,

\ 2
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when | was little, children were bought two kinds of ice cream, sold from those white wagons with the
canopies made of silvery metal: either the two-cent cone ar the four-cent ice cream pie. The two-cent
cone was very small, in fact it could fit comfortably into a child's hand, and it was made by taking the ice
cream from its container with a special scoop and piling it on the cone. Granny always suggested | eat
only a part of the cone, then throw away the pointed end, because it had been touched by the vendor's
hand (though that was the hest part, nice and crunchy, and it was regularly eaten in secret, after a
pretense of discarding it).

The four-cent pie was made by a special little maching, also silvery, which pressed two di@fs of Sweet
biscuit against a cylindrical section of ice cream. First you had to thrust your tong@EQgtofthe gap
between the biscuits until it touched the central nucleus of ice cream; then, gradually, Wou atethe whole
thing, the biscuit surfaces softening as they became soaked in creamy nectar, GFanny HE@o0 advice to
give here: in theory the pies had been touched only by the maching in practic@ theffendor had held
them against his hand while giving them to us, but it was impossible toisalate the contaminated area.

| was fascinated, however, by some of my peers, whose parents boyshtS€m bt a four-cent pie but two
two-cent cones. These privileged children advanced proudly with @ne coge’in their right hand and one in
their left; and expertly moving their head from side to sideghbeylicked first ong then the other, This
liturgy seemed to me so sumptuously enviakle, that many Omes Tasked to be allowed to celebrate it. In
vain, My elders were inflexible: a four-cent ice, yes, butgtivo twia-gent ones, absolutely no

&5 anyone can see, neither mathematics nor ecogdm v WEr dietetics justified this refusal. Mor did hygiene,
assuming that in due course the tips of kedth SQge: were discarded. The pathetic, and obviously
mendacious, justification was that a boy cagoerfed with turning his eyves from one coneto the other was
more inclined to stumble over stones, §legt Beracks in the pavement, | dimly sensed that there was
another secret justification, cruelly pBdag8gical, but | was unakle to grasp it

Today, citizen and victim of a@@RsurmEr society, a civilization of excess and waste (which the society of
the thirties was not), | realife giat fhose dear and now departed elders were right, Two two-cent canes
instead of one at foug cents Aot signify squandering, economically speaking, but symbaolically they
surely did. It was for this pr@cise reason, that | yearned for them: because two ice creams suggested
excess, And this wis egisely why they were denied me because they looked indecent, an insult to
poverty, a disflay @i fictitious privilege, a boast of wealth, Only spoiled children ate two cones at once,
those childg8meo in fairy tales were rightly punished, as Finocchio was when he rejected the skin and
the ss@lEar parents who encouraged this weakness, appropriate to little parvenus, were bringing up
th@ig chilldrermin the foolish theater of "I'd like to but | can't." They were preparing them to turn up at
toufist-08 s cheek-in with a fake Gucci bag bought from a street peddler on the beach at Rimini

Mowadays the moralist risks seeming at odds with maoarality, in a world where the consumer civilization
now wants even adults to be spoiled, and promises them always something more, from the wristwatch
inthe box of detergent to the bonus bangle sheathed, with the magazine it accompanies, in a plastic
envelope. Like the parents of those ambidextrous gluttons | so envied, the consumer civilization
pretends to give more, but actually gives, for four cents, what is worth four cents, You will throw away
the old transistor radio to purchase the new one that boasts an alarm clock as well, but some
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not last nearly so long as the glorious old Fiat 300, which, even when it broke down, could be started

again with a kick,

The morality of the old days made Spartans of us all, while today's marality wants all of us to hbe

Syhbarites,

76. ‘Which of the following cannot beinferred from the passage?

(1) Today's society is more extravagant than the society of the 19305,

(21 The act of eating twao ice cream cones is akin to a ceremanial process,

(3) Elders rightly suggested that a boy turning eyes from one cone to the other was moreli to

(41 Despite seeming to promise more, the consumer civilization gives away exactly hing is
warth,

(5) The consumer civilization attempts to spail children and adults alike,

77, Inthe passage, the phraze "little parvenus” refers to

(1) naughty midgets, *

(2] old hags.

{3) arrogant people. Q

(4] young upstarts,

(5) foolish kids. @

78. Theauthar pined for two-cent cones instead f cent pie because

(1)1 it made dietetic sense,

(2] it suggested intemperance.

(31 it was more fun,

(4) it had a visual appeal,

(51 hewas a gutton,

79, What does the author b@"nowadays the moralist risks seeming at odds with morality” Y

(11 The maoralist of yeaterday ecome immoral today,

(2] The concept o ity s changed over the years,

(31 Consumeri

(4) The risks with immaorality have gone up.

(31 Thep iewy of morality is fast becoming popular,

(3]
(4]
(5]

dialectic,
diatonic.
diastaolic.,
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& remarkable aspect of art of the present century is the range of concepts and ideologies which it
embodies. It is almost tempting to see a pattern emerging within the art field — or alternatively imposed
upon it a posteriori — similar to that which exists under the umbrella of science where the general term
covers a whole range of separate, though interconnecting, activities, Any parallelism is however — in this
instance at least — misleading, & scientific discipline develops systematically once its bare tenets have
been established, named and categorized as conventions, Many of the concepts of modern art, by
contrast, have resulted from the almaost accidental meetings of groups of talented individuals atfcefain
times and certain places, The ideas generated by these chance meetings had twofold congEfglences)
Firstly, a corpus of work would be produced which, in great part, remains as a concrete ré@ard difthe
everts, Secondly, the ideas would themselves he disseminated through many diffgrentSehafinel= of
communication — seeds that often bore fruit in contexts far removed from theie oSheratifing Mot all
movements were exclusively concerned with innowation. Surrealism, for instandg, claimed to embody a
kind of insight which can be present inthe art of any period. This claim has been@enerally accepted so
that a sixteenth century painting by Spranger or a mysterious photogra@®ey Afget can legitimately be
discussed in surrealist terms. Briefly, then, the concepts of modern Brgareff many different (often
fundamentally different) kinds and resulted from the exposures of palmiers, sculptors and thinkers
to the more complex phenomena of the twentieth certury, incluliog ok ever increasing knowledge of
the thought and products of earlier centuries. Different gr@Upa@f artists would collaborate in trying to
make sense of rapidly changing world of visual and spirifidal efioedence. We should hardly be surprised if
no one group succeeded completely, but achievem e, through relative, have been considerable,
Landmarks have been established — concrete statem efbs oFposition which give a pattern to a situation
which could easily have degenerated into fatal chaos. Beyond this, new language tools have been
created for those who follow — semaghic =W8tems which can provide a springboard for further
explarations,

The codifying of art is often criticieese Cataifly one can understand that artists are wary of being pigeon-
holed since they are apt to thfRef themselves as individual s — sometimes with good reason, The notion
of self-expression, howevergnglon@er carries quite the weight it once did; objectivity has its defenders,
There is good reason o accept@iee ideas codified by artists and critics, over the past sixty vears or so, as
hiaving attained the stabus ofindependent existence — an independence which is not without its cwn
value, This timg factor el portant here, 25 an art movement slips into temporal perspective, it ceases
to be a living oQgargi)— becoming, rather, afossil. Thisis not to say it becomes useless or uninteresting,
Just as a sGEREish can reconstruct the life of a prehistoric environment from the messages codified into
the st@uthyredof afossil, so can an artist decipher whole webs of intellectual and creative possibility from
th@ectrded structure of a "dead’ art movement. The artist can match the creative patterns crystallized
poit Ogt hisSstructure against the potentials and possibilities of his own time, A5 7.5 Eliot observed, no one
staf@Danything fram scratchy however consciously you may try to live in the present, vou are still
imiolved with a nexus of behaviour patterns bequeathed from the past. The original and creative person
is not someone who ighores these patterns, but someone whao is able to translate and develop them so
that they confirm more exactly to his — and our — present needs,
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(2]
(3)
(4)
(5]

Sisystematicinvestigation, codification and conventions,

the dissemination of ideas through the state and its organizations,
accidental interactions among people blessed with creative muse,
patronage by the rich and powerful that supported art.

82. Inthe passage, theword fossil’ can beinterpreted as
(1) an art movement that has ceased to remain interesting or useful,
21an analogy from the physical world to indicate a historic art movement.,

41an embedded codification of pre-historic life
S1an analogy from the physical world to indicate the passing of an era associated wit @
movement.

)
)
3an analogy from the physical worldto indicatethe barrenness of artistic creations inth st
)
)

(
(
(
(

83. Inthe passage, which of the following similarities between science and art m ad to erroneous
conclusions?
(11Both, in general, include a gamut of distinct but interconnectin 5

(2)Both have movements not necessarily concerned with innavatiion,
(3)Both depend on collaborations between talented individ

(41Both involve abstract thought and dissemination of ide
(51Both reflect complex priorities of the madern warl

84. Therange of concepts and ideclogies emb
(1)the existence of movements such as surr
(2)landmarks which give a patterntot
(3)new languagetools which can b

(4)thefast changng world of p

(51the quick exchange of id d c@ncepts enakled by efficient technology,

85. Thepassage uses anoh jon by T.S, Eliot to imply that
(1)creative processes

e r‘u*ru:nri ginal’ becausethey always borrow from the past.

only thrive in a ‘greenhouse’ insulated from the past biases,
s'and "original thinking' interpret and develop on past thoughts to suit contemporary
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To summarize the Classic Maya collapse, we can tentatively idertify five strands. | acknowledge,
however, that Maya archaeologists still disagree vigorously among themselves—in part, because the
different strands evidently varied in importance among different parts of the hMaya realm; because
detailed archaeological studies are available for only some haya sites; and because it remains puzzling
why most of the Maya heartland remained nearly empty of population and failed to recover after the
collapse and after re-growth of forests,

With those caveats, it appears to me that one strand consisted of population growth outsripPiag
available resources: a dilemma similar to the one foreseen by Thomas Malthus in 1798 and b&ingSalayed
out today in Rwanda (Chapter 10), Haiti (Chapter 11), and elsewhere. 25 the archaeol@gist David
Wehster succinctly puts it, "Too many farmers grew too many crops on too much @ theQantécape."
Compounding that mismatch between population and resources was the second strafd: thel effects of
deforestation and hillside erozion, which caused a decrease inthe amount of uss@hle fart8nd at a time
when maore rather than less farmland was needed, and possibly exacerbatesby afl anthropogenic
drought resulting from deforestation, by soil nutrient depletion and other soil problems, and by the
strugge to prevent bracken ferns fram averrunning the fields,

The third strand consisted of increased fighting, as more and mofe people®ought over fewer resources,
haya warfare, already endemic, peaked just beforethe collapse. That is ot surprising when one reflects
that at least 5,000,000 peaple, perhaps many mare, were gramied (Lo an area smaller than the state
of Colorada (104,000 square miles). That warfare woubd Nede dereased further the amount of land
available for agriculture, by creating no-man's lands belweerfadincipalities where it was now unsafe to
farm. Bringing matters to a head was the strand ofWate®hange. The drought at the time of the Classic
collapse was not the first drought that the W a@kad [Med through, but it was the most severe, & the
titme of previous droughts, there were still urfighabited parts of the Maya landscape, and people at a site
affected by drought could save themselg@s byQeoving to another site, However, by the time of the
Classic collapse the landscape was now fullgtiBes was no useful unoccupied land in the vicinity on which
tobegin anew, and the whole population Gauld not be accommodated in the few areas that continued to
havereliable water supplies,

&5 our fifth strand, we ha @ wander why the kings and nobles failed to recognize and solve these
seemingly obvious problem=\Qedefmining their society, Their attention was evidently focused on their
shortterm concerns ofenriching themselves, waging wars, erecting monumerts, competing with each
other, and extractiffeefeugh food from the peasarts to support all those activities, Like most leaders
throughout hufan Ristofy, the Mava kings and nobles did not heed long-term problems, insofar as they
perceived therml, Welhall return to this themein Chapter 14,

Finali§, Sgkile we still have some other past societies to consider in this book before we switch our
athentitlk to e modern world, we must already be struck by some parallels between the Maya and the
pash sogefies discussed in Chapters 2-4. &= on Easter Island, Mangareva, and among the &Anasazi, Maya
efgiranmental and population problems led to increasing warfare and civil strife, A5 on Easter Island and
at Chaco Canyon, Maya peak population numbers were followed swiftly by political and social collapse.
Paralleling the eventual extension of agriculture from Easter Island's coastal lowlands to its uplands, and
from the Mimbres floaodplain to the hills, Copan's inhahitarts also expanded from the floodplain to the
more fragle hill slopes, leaving them with a larger population to feed when the agricultural boom in the
hills went bust. Like Easter lsland chiefs erecting ever larger statues, eventually crowned by pukan, and
like Anasazi elite treating them selves to necklaces of 2,000 turguoise beads, Mavya kings sought to outdo
each other with more and more impressive temples, covered with thicker and thicker plaster—
reminiscent in turn of the extravagant conspicuous



consumption by modern American CECs, The passivity of Easter chiefs and Maya kings in the face of the
real big threats to their societies completes our list of disguieting parallels,

86. According tothe passage, which of the following best represents the factor that has been cited by
the author in the cantext of Rwanda and Haiti?

(1) “arious ethnic groups competing for land and other resources

(21 “arious ethnic groups competing for limited land resources

(3) “arious ethnic groups fighting wit each other

(4) “arious ethnic groups competing for palitical power

(5) warious ethnic groups fighting for their identity

87. By an anthropogenic drought, the author means

(1) A drought caused by lack of rains,

(21 & drought caused due to deforestation *
(3) A drought caused by failureto prevent brackenferns from ove g ields,
(4 & drought caused by actions of human beings,

(5) & drought caused by climate changes,

88. According tothe passage, the drought at thetime ay apse had a different impact compared
tothe droughts earlier because

(11 The haya kings continue to be extravaga cammon people were suffering,

(2) It happened at thetime of collapse of lea ong Mavyas,

(31 It happened when the haya popula oteupied all availakle land suited for agriculture,
(4) It was followed by internecine w ng kMayans,

(5) Irreversible enwironmental d ' d to this drought.

89. According tothe autha i
(11 Copaninhabitantg destro | records of that period.
The constant

ifficult to explain the reasons for Mavya collapse?

tatipn and hillside erosion have wiped out all traces of the Maya kingdorm,

factor has not been cited as one of the factors causing the collapse of Maya society?
vironmental degradation dueto excess population

Social collapse dueto excess population

Increased warfare among Mavya people

dimate change

Obsession of Maya population with their own short-term concerns.
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